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The figures in the margin indicate
'-»—,,'__’?mll marks for the questions.

Answer either in English or in Assamese.

1} Answer the following as directed :
1x10=10

e MAIERE RoH SeEiat Tes BT ¢

(a) Capital reserve arising out of revaluation
of assets is also available for issue of

bonus share.

(State whether the statement is true or
false) "F/f\
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(b)

(c)

(d)

(e)

AR <RI Rl TER (2! YA FAS
o1 A el ot R =1k |
(Bf&eht o @ oo &)

The buy back of share does not exceed

— percent of the total paid up
capital and free reserves of the company.

(Fill in the blank)

9T T TR IRE @I 1@ I
: %
(=T} 31% 2{39 ¥)
Remuneration paid to an auditor is

shown in the statement of Profit and
Loss as ‘other expenses’ under the main

head . (Fill in the blank)
2ot o9 SRy T AR SAS-CATE
Ryfos = frel I HETS T [
fBpiest (e =W | (T} 312 979 F1)

State one reason for issuing right shares
to the existing shareholders.

TEAFR ST TS SIS wigeiefe Rfs
TR 96} IR T |

Payment made to the creditors in final
settlement of the transferor company is
not included in purchase consideration
for amalgamation. :

(State whether the statement is true or
Jalse) o ’ :
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BTN IR BRI PN sheamies
RIS {251t osifeq AR sifReetis <t o0 peme
AR TR T2 |

(CfeehT waer @ qoaer v 7=)

In case of internal reconstruction only

the shareholders are required to
sacrifice.

(State whether the statement is true or
false)

BTN A{oTETR (e 731 SIeivid HIRTE i)
TR IR AN (Bt 0% 7 wow )

In case of partly owned subsidiary the

question of minority shareholders will
not arise.

(State whether the statement is true or
false)

RPN ST (FI=ITIR Ces Siicoifrrer
T A 4T L | '
(Cfeeh! war o wrom fvey)

Under super profit method, valuation of
goodwill is based on the average
super profit earned by the business,

(Fill in the blank)
Wm%ww\%w
A 8oiTe fofe 3R Ry a1 =3

(471 312 979 3=y)
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(i) “Financial gain is one of the advantages
of amalgamation.” .= . Y
(State whether the statement is true or
false)

“SNIF 7S GIJIIER o1 Sy |
: (e o o orom )

() Mention one mode through which
alteration of capital may be done by a
company.

@Mﬁmﬁmmﬁaﬁawm%ﬁw
=

Answer the following questions : 2x5=10

SoIR AR e forat ¢

() When and how profit is capitalised ?
(ST AR (AP A T gre 33 T 2

(p) What is purchase consideration in the
content of amalgamation ?

G AReEFeS T R s &
@i e

(c) What is buy-back of shares ?
TR¥AG TS T M

(@DExplain the treatment of ‘preliminary
expenses’ while preparing the final
accounts of a company.

RN FoIs R5i+1s ‘¥ e’ B5ie !
[T |

(e) What is cost of control in the accounts
of holding company ?

9P (oIS 2piore Rameis a1 i e

Write brief answer of any four of the
following : 5x4=20

were WAl Rigrea 51fabie Raw v Tes frai ¢

(a) State the conditions to be fulfilled by a
company to buy-back its equity shares.
2 SeIoH o T 3R AT PR iR
7[31 I FMN 5 Trgmd 74|

(b) Mention the purposes for which
‘securities premium reserve’ received by
a company can be utilized.

<t PIITICE e aifowfes witge I & &
TS IR R A, TS 1|

(¢ How is a scheme of interval
reconstruction is prepared ? "

ST 9§71 51 SIS (@RS 2T I 2 9
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(d) The following is the extract ofi Trial
Balance of Prapti Limited as on 31-3-

2023 :
i ffibes 31-3-2023 wiftes Tq@
REreias SIReeY were fim == 3
Opening inventory (SIS S #44) 18,200
Sales (Re) 2,73,000
Salary (%) 5,000
Purchases (¥9) 2,15,500
Sales returns (e ) 3,000
Dividend Received ()i 1) 5,300
Import Licence fee (SR} Sr@iofg W) 2,400
Auditors fee ({25151 %<1 g 1,000
Staff welfare expenses (T TR ) 2,000
Machinery (T5ifS) 71,000
Advertisement (R&io) 4,300
Interest on debenture (39933 Gogw o) 1,000

You are required to prepare a statement
of Profit and Loss after considering the
following :

weTS Al Rz Rezat o qam sirs-Eies™
S ame e

Closing stock on 31.3.2023 js Rs. 18,000.

31.3.2023 IR A g #4ef5 18,000
il
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(e) Pass Journal entries in the books of

transferee company under ‘purchase
method.’

FAIGT A (PN IS T oG o© Sl
RS |

() The net assets of Prajapati Ltd. were

valued as goodwill Rs.28,200, fixed
assets Rs.9,00,000. It has the liabilities
as preference capital Rs.1,00,000.
debenture Rs.5,00,000, trade creditors
Rs.1,25,000. The company has 5,000
equity shares of Rs.10 each. Find out
the intrinsic value of one equity share

on net assets basis.

GioifS HRTBTT I TifeR T IS, 1%
28,200 53, F 7i& 9,00,000 T | 2|
FAPTR 2o SIfEFIge Je4 1,00,000 B,
A95F 5,00,000 B, JIAII NS
1,25,000 B3 | (RIINIGR 2! 10 S
5,000 T30 SR¥IAY IR Yo TR *iRyyey
fofe @bt wieaiolas 3fGefos oy A
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4.

Answer the following questions : (any four)
10x4=40

Newe 2R Ses a2 (Resmizan 51351

(a) From the following balances of Polok Ltd.
as on 31-3-2023, prepare a Balance
Sheet as per the Companies Act, 2013 :

31-3-2023 Wi 4 s Tges st 2013
BT Q=L SR SRR oo frfiiches Oge
ool ege 21 ¢
24,000 Equity shares of Rs.100 each 24,00,000
ofotBre 100 50 24,000 M Sgaety
Sundry Creditors 3,20,000
fiRe e
ICICI Bank Loan 2,00,000
ICICI @% ¥
Proposed Dividend 1,20,000
#RIRS e
10% Debenture 10,00,000
10% 399
General Reserve 2,20,000
e o
Securities Premium Reserve 1,20,000
g avge I
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Surplus in statement of Profit & Loss on 31.3.2023 6,40,000

ale- Ao Rgfed 79

Live Stock 3,40,000
RIS

Land and Building 13,20,000
i 1% R

Cash Balance 2,00,000
YOI &

Stock in trade 4,00,000
WEAy

Loose Tools 2,40,000
R e

Furniture 4,00,000
Y5

Plant and Machinery 14,00,000
a1 % Trifo

Sundry Debtors 5,40,000
RRy grmm

Prepaid Rent 20,000
Lk iaow]

Investment 1,60,000
Rt
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You are required to prepare a Balance
Sheet of the company as per schedule
III of the Companies Act, 2013.

2013 571 CIISIIR) SiZw I 111 Sl @2
Tge [FfSea oige 31|

(i) The existing shares to be made fully
paid up without the shareholders
having to pay anything.

GG 3ET S Wit T8 mimg Sz
seyef SifRTy T rER iR

(@) Each shareholder to be given bonus -

shares for the remaining amount.
The shares to be valued at Rs.125.

Give journal entries in the books of

the company for issuing bonus
shares.

AR 2 <Y R it et i s
R e 13 A | e 125 B9
TR R AR |

R w11 Rt 219 Pt i a8
eI 2R fa
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(b) The following are the Balance Sheets of
H Ltd. and its subsidiary S Ltd. as on

31st March, 2023 :

31.3.2023 ©if¥¥s H Ffthe o= S fifiittey
g Ffosia wers fam = ¢

Particulars (R3aR)

Amount ()

1. Equity and Liabilities
% (TR
(1) Shareholders’ Funds :
R o ¢
{a) Share Capital (3 J) :
Equity shares of Rs. 10 each

oo ) ofeTR! 10 Gl St
(b) Reserves and Surplus :
fHasad

Surplus in statement of Profit & Loss

Hitd | SLtd.

1,20,000 | 40,000

10,000 | 4,000
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- Rqfe e 99
2) Current Liabilities : Sundry Creditors 54,000 | 12,000
bl (1 s R e
Tol(@) [ 184000 [ 56,000
IL Assets (%)
(a) Non-curren;;qugts
RS
Property and Equipment 1,36,000 [ 56,000
’P’I%Wﬁnﬂ@iﬁ
{b) Non-current Investment
9
Shares in $ Ltd. 48,000 -
§ feibeq wot _
Totd () | 184000 | 56,000
—g%




The shares were acquired by H Ltd. as
on 31st March, 2023 prepare the
consolidated Balance Sheet of the

holding company and its subsidiary as
on 31st March, 2023,

2023 51 31st M ©iRwe H Bfde @ S
ffito s Sl Sifdaree 312023 579 31st

T $IR4S holding company W%
subsidiary company I AifiApe Yge f3fee@

4T |

(c) What is meant by valuation of shares ?

Explain the need for valuation of shares. -

2+8=10
wwﬂam{%mﬁqmmwo{mw
SRSl A 3 |

(d) The following is the Balance Sheet of

Overconfident Ltd. as at 31st March,
2023 :

31.3.2023 ©If¥¥s Gormmes RRGU
g6 i e fim o ¢
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Balance Sheet as on 31-03-2023
byEa 31.03-2023 |

Particulars (ReR) i
1. Equity and Liabilities

e R
(1) Shareholders Fund
TS T 8
(a) Share Capital :
T T »
90,000 Equity shares of Rs.10 each fully paid 9,00,000
T3t 10 Bl 90,000 TgH T
45,000 Preference shares of Rs.10 each 4,50,000

ofeti1 10 5fts 45,000 TARIITS Tt
(b) Reserves and Surplus :

ol
Surplus (Deficit in statement of Profit & Loss) (3,15,000)
7R (- Fefea ) | ,f
(2) Non-current Liabilities |
e
Debentures 1,35,000
Lo
(3) Current Liabilities
5% (Wl
a) Trade payables : Sundry creditors 1,15,000
T o o ke e

Total (%) | 12,85,000 |
e —
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Particulars (Re9) R (i) Gooc?w.ill, deferred expenses and
1L Assets (%) : ) deficit in statement of Profit & Loss
. : () : oL . . - -were to be written off, machineries
(I) Non-currentAssets to be depreciated by. Rs.80,000,
i T | ~ inventory to be written off by
(a) Property and Equipment : 'Rs.60,000 and provisions on
i e T ¢ ' debtors to be kept for Rs.40,000.
Machinery (Tas1f%) | 4,50,000 eI, Rt 3o 393 1% 316 EAIvDe RYfes
(o) Goodwill () 45,000 6fS e ReiFice s FRI =R 1 Taife
{¢) Other Intangible Assets : Trade Mark 90,000 80,000 53re BRE Refite sy k=i |
S 7 2 e g © Yge 60,000 T W ReAfire
() Current Assets (s F1R) R A I (AIIRE 851 40,000 1
(@) Inwentory (%58 1) 3,40,000 Hey A I IRI AR ‘}-
(b) Trade recew?bleS:Debtors 3,60,000 Pass Journal entries to record the
T 241 G I same and show the Balance Sheet
' | Total (’l%) w of company. 6+4=10
scheme of reconstruction oi% (NI T fFfSeia oryear
| ARSI e oRefon Shpf oz I 8 Explain the various methods of valuation
f)  The ®quity shares were to P° of Goodwill . ‘
Il.)erdtl‘lced by Rs.5 each and the WWW WWW| -
efer . .
ence share to Rs.6 each. () Explain the meaning and objectives of ‘
S SR A 5 Gt 2z V1R amalgamation of companies. 4+6=10
Ao e e %
iz & WReivtg 6 51O =T R S 1 ST 1y
ol -
*Sem-a/CBes) cacsq 44 4 (Sem-4/cBes) cac/G 15 Contd, .-

_




(g) Discuss the procedure ofissue of bonus
shares. State the accounting entries to
be made in the ‘books of the company
for issue of bonus shares.  4+6=10

wwﬁﬁaaﬁmﬂf{{wwuww
e’ IR @R Qe =@ wimt

SRR T 41|

~(h) (i) Explain briefly the amalgamation in
~ the nature of merger.
SCAG A |

@ ﬁlsunguish between bonus shares
and right shares. K

ww\ﬁmﬁw\*ﬁmmw i

ey ot | l
5+5=10

i
!
I
|
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-
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